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1) Factor the following expressions fully. Consider using the flowchart you received as part of your
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review yesterday. (\\/)50 DoS
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2) Consider the quadratic relation y = 2x% — 8x + 6
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c) Find the axis of symmetry, and vertex. Then, complete 5
the sketch of this quadratic relation. i i
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3 a) Find all values of b so that x2 + bx 4 10 can be factored over the integers. Hint: There are 4

values.
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b) Find all values of b so that 4x2 + bx + 5 can be factored over the integers. Hint: There are 6 values.
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4) Write an algebraic expression for the shaded area. Expand your expression into standard form, then
write your expression in factored form by factoring.
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